45 2159 do] | 45+ A&
(1) 21.98 cm 7cm
(2) 37.68 cm 12cm
(3)31.4cm 10 cm
(4) 12.56 cm 4cm
(5) 18.84 cm 6 cm
@ 3.141 @ 3.1416 ® 3.142

@®)3.14 ® 3.1

21.98 + 7, 37.68 + 12, 31.4 + 10,
12,56 + 4, 18.84 + 6
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= 9 dolE AFL R she de Usde W, 99 Hels

@78.5(:1112 @ 62.8cm? ® 60.24cm?

@ 58.16cm? ® 50.24cm?

9] 4ol : 10+ 2 = 5(cm)
=

Ho] 1 5x5x3.14 = 78.5(cm?)
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® A& 4cm

@ A& 2.5cm

® A& 6cm

@ A& 2.3cm

® A& 12.56 + 3.14 = 4(cm)
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10. A&l
=22 o, 2H 47 24 AYE=E 2 m U7
D 1m @ 5m @ 7.85m
@15.7m ® 314m

2P E 5 2Reng, 294 59 Zolo 5 w7t Hyrt
w2hA 1x3.14 x5 = 15.7(m) Ytk




11, 99 Se9] Zolt 1ss4cm 91 A2 WAE] Pole F emP U7}

@ 10cm @ 15cm ® 20cm @ 25cm @300m

(99 E9) = 2x(9 2 €A E) x3.14
188.4 = 2x (¥9] ¥kA]E5)x3.14
kAl o] 9] 52 188.4 + 3.14 + 2 = 30( cm) YU Tt




12.
e, of® grrzgo] HAEU7E

HEzFo] 7.5cmel 9] ZHE 7.85 cmM Hgo] thro] 4

® AN @ Ho7t3g ©FERL
@ w7y ® A4l
9] E0] ol
7.5X2x%3.14 = 47.1(cm) ©] 1L
47.1+785=6°]02
% A8 7kgo] Yt

Ao & 6 T "= 0le




13. 9F7169.08 cm?l Yol yol5 4L51H dnt
D 34.54 cm? @ 69.08 cm?
@379.94 cm? ® 1519.76 cm?

U7

® 216.91 cm?

B

LR ERENE
(¥F2]2)x2 x 3.14 = 69.08
(§F2]2)x6.28 = 69.08
(FFA]2)= 69.08 = 6.28
(F25)=11(cm)
o] Wo] 1 11x 11 x 3.14 = 379.94( cm?)
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JE2AQ,
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252 dolE Acmzt 5HH
AXAX3.14 =785
AXA="785=+3.14

AXA=25

A =5(cm)

(A59] Zol)=5x2=10(cm)




15, ohg TROIA AT FEe U8l X Iyt A8 R

ot Aotz

O 188.4cm? @125.6 cm? ® 94.2cm?

@ 62.8cm? ® 31.4cm?

=8X%x5x3.14
= 125.6( cm?)




